Credit Recovery Algebra 1 Sem 1 Ch 3 Notes: Functions

Chapter 3 Notes: Functions

Date Day Assignment
W | e 00 | .1 oo
igi}ggg ;;f:;;(ﬁ})) 1W: 3.2 Workshcet
01922 | Wednesday (py | TW: 33 Workshee
:33?,’35 U ‘;’f; ’(’é’;) HW: 3.4 Worksheet
:33;3% ?L(::ili:{ %;; HW: Ch 3 Review Worksheet
10/26/22 Wednesday (A) | Ch 3 Test
10/27/22 Thursday (B) No HW @)
HW Hints:

» Class website: https://www.washoeschools.net/Page/18023

» Check out our class YouTube channel:
https://www.youtube.com/channel/UCkggsceoKE31Fg7YGxTM6Lw

» Show all work for each problem.

» Students who complete every assignment this semester will get a 2% bonus.

» For extra practice, visit www.khanacademy.org

» Check out www.mathguy.us for extra help.
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Credit Recovery Algebra 1 Sem 1
3.1 Notes: Intro to Functions

Key Vocabulary
Domain: Range
sox (lit) oE ol inguds sor (V) o2\l ovrpuls
Xy o
\Q.Mﬂ' 4 0}!‘&&3‘6 ¥ leacr— q}m_}.
Example 1: Find the domain and range for cach sct of ordered pairs below.
D:. {3 'S :8_7[

9 o2 3 a5
BB 23133

O 21,2,\3&1,53

. § Ay 12,938
You try! 3
C) {(Zi); (6'I)'(_3I)’ (OJ'} d) iﬂpl.lt output C) I .“ [T
y 3 Red I
D ?_-Z‘D\(o\—‘\’i 7 Blue HHHH . ?
-2 Green € >
e [ =1 2,51 o
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@ | ek Bue, Gren] 010,253
Key Vocabulary Q. { A4 ,S‘
Relation S o€ vdeed Function x g, W\fw"" \nas
Po.'\rr Q)(OCMJ (one) e Oulpw
S & — oten  ZStgp
Vertical Line Test 3 (T Ve-h ot Sd¢ 2 qreen g b
is dnven Oogoher on o frachos, D¢ — Slwe
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Example 2: For cach relation, 1s it a [unction? \{83 o ND
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Credit Recovery Algebra 1 Sem 1 < Ch 3 Notes: Functions
(1,2
Example 3: For each relation, is it a function? SNy
f'.,S) A = I'_- v) i
A ® C m® S
7 N r | posio
HHHEHN _:‘{:,.k‘"" | :fn., 1] Y
{aas T , "\“’1'. i kT ’ YLT
“ I |<_s E - # ‘r\‘r
You try!
d) {(7,-1),(6,5),(=3,2),(0,5)} o | 3 Red Yes
7 Blue :
\l gS -2 Green (' : npm o
3 Green o'“ ﬂl“Ff)
( .mPUdS ot R‘ \ d’H) -4 Green
¥ y 7
n e 2) h) -
{ j# I A H
Pk i i85, 22 —Hr S
7 T = A /\ﬁ_ I. g :_: '-IU ﬁ;;
1l r. T r—— 1 III .I i
EEEEERAREEE "if w'
N
s @ fils e @ R
Function Notation: N T f
: £(x) SU) W (x) e VLT
1] Al
§ & & « 5" st "
X I8 oul ”‘PM‘ K.\Sm N‘P"d ‘Lu"n'l "'P“k

For Examples 4 — 9, given that f(x) = 3x—9and—

4) Find f(-2). ) Find \6) You try!| Find f{(8).
m%erh‘ﬁ';,f = - + S 3(g )- 9
n -2 s Fhe fnpw\ LI ( ?T ) |npu4'

=3(-a) — 19 gt -‘-—‘iISS

iL* =‘-IS! [35'23!

7 Fmdxlff(x) = 10. 8) Find x if g(x) = —5.
<7 ¥ ) N
LSRR |
+
-‘hw.f = =5
=14 s -s
3 “ﬁt:;: “1®-
S =4 5 = -Y4-
x L4 il (" X = ‘% o 2.




Credit Recovery Algebra 1 Sem 1

Ch 3 Notes: Functions

3.2 Notes: Linear Functions

Kevy Vocabulary

bpear Hanetion & V = Xy < S\ope- Y Ao
‘-puﬁu*’m_\“-f shpe gy Y H
-2 funcion & \’:me_hj X Ké:- Uﬂ.t 7
% Ax +px=C € Stwdord
Rate of Change Zero Term ;
\in - 1 = Shrhing, value
‘i\

Examples 1 — 2: Writc a lincar function for the data shown in cach ta

0 ‘7,3
D [x TJ170 [1 [2 =mx+e 2 x [ g ‘
= 1| 5 S -
o | 17 (32)] 47 | 62 A | I, 5 W
A " 2 12 5.3 chew
e of ty xig ¥IS . e
4 | 4 /4-3 ‘
thersc m=)\S v 1b=8
(s\op* Y
= mx¥)h 27 0 e
ol i +
‘?iuy\-n\‘ = 32) m\
You try! Examples 3 — 6: Writc a lincar function for the data shown in cach tab
- o~ ) O |3 1.8 =25
3)  [ErfoeNoEzemy 4 X d(l')& be 35
rR\1 -5 -11 -17 1 b N 42.< s IRn
il ~5) 00, £oslee  yromid
T3 2.5 e ]
L] \ Y eX 1\ AREL T‘I”'S"”""
S [x [ v ™3y Olplx [1 2 [3 |4 -3
=21 9 b: 1y} h(x) |5 2 | -1 |—4
o1 [ 13 Nl S T =3
T i M B
Sr—21 7YY \I =Uxyr 12 e
[l [




Credit Recoverv Algebra 1 Sem 1

Ch 3 Notes: Functions

Slope-intercept form of a line:

= b
\fpx*a |

N
} slogt ¥~

For Examples 7 — 12, write the equation of the described line in slope-intercept form.

5 3

7) A line with a slope of % and a v-intercept of 10,

x &+ 10

codm

D _yle
2

= e B e
8) A line with a y-intercept of -7 and a slope of 3.
@ m=s \, =Sx-"%
: 3T
9) The line graphed below. ™M= ?:: £ 10) You try! The line graphed below. sy
- gk =2
— e : e e
o Al s
\ ' e
_‘3— |
s TR L{ T i
= >\ < S ¢
\I = %K ¥ -"1
\
X v
2\ .
You try #11 — 12: % APER
11} A line with a slope ol 1 and a v-i sepl of 0. |
= Ix+0 \/ 5 48
12) A line with a y-intercept of — % and a slope of 8.
. <
W m =8

Review: find the slope between the points below. Use the slope formula: T = %
2=X1
13) (—14,30) and (12,27) 14y (=3,-5) and (9,-2)
v Y X2 Yz X 4, X2 Yo
- It o
m~ 21 -30 -; w2 2.____++§ o Tg._-:& e
12+ Ty @ +*¥s3
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Credit Recovery Algebra 1 Sem 1 Ch 3 Notes: Functions
3.3 Notes: Writing Linear Equations in (h, k) Form

(h, k) form of a line: ‘: YJ’Y) (_' _.-\(-\\? + }<

slope W, K

ol nd
Example 1: Write the equation of the line, in (h, k) form, that passes through gﬁ -2) with a slope of 3 -2

NemX=W ¥ K
-3(x=9)

Example 2: Writc the cquation of the line, in (h, k) form, that passcs through (-7, 1) with a slope of 5.

@:S(x 1) X clhung

S:c\ns

You try! Example3 —4: Forcach line dc%cﬁr_l‘bcd below, write the equation in (R, k) form.
3 through , 1) with a slope of 2 z 4) through L\ 6) with a slope of - T g™

wn | 22 1 = Bc-9 +6)

Converting to Slope-intercept form:

o dishnbwie \J ZWMX+b
o Combine Tike Yrm;s

Example 5: Write the cquation of the line §j mplc 1 in slope-intercept form of a line.
Y - -3 §J =
= y15-2
S #3003 Y3\
You Try! Example 6: Write the équaho line from Example 2 in slope-intereept form of a line.
XA ¥\

s S5%X +3 -]
Example 7: Write the equation of the line %Jm Example 4 in slope-intercept form of a li
N =&k -4) b = 3x+3
| % $ 3 X

\1:%,(__34—9
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Credit Recovery Algebra 1 Sem 1 Ch 3 Notes: Functions
- b

Wtaﬁon for an ordered pair: (x -C ( x\) 'F(%tzn*" 1 e
) /T\ ) owp

x 1 s -
oubout \og¥ 1 npwk 0 (& )\D ) yme
Example 8: Write the equation of the line, in (h, k) form. that contains f(—11) = —2 and has a slope of 2.
=m(X-h) + K (-1),~2)
W K

yra (ks -2l

You try! Example 9: Write the equation of

1 y:—ﬁ(x—mﬂg

al contains f(14) = —5 and has a slope

<5 )
(=%

of — E
o
me L
Writing Equations of Lines from Word Problems in Slope-Intercept Form:
“Starting valuc” or “one-time fee™

ki g e LW)
Rate of change (look for “per” or “cach™):
v (slope D

Examples 10 — 13: write an equation in slope-intercept form to represent each situation.
10} A plumber charges @-&Om° plus a one-time service fee of $50. Use ¢ for the total cost and 4 for the

number of hours. \ b
S OpL =SS0
40

lus(S12 per t-%hirt ordered. Use y for 1

11} A t-shirl company charges aset-up fee of $30,
for the number of t-shirts ordered:

\f ad slogez\.
b= %0

You try!
12) Andrea is keeping tgagk of how many miles she runs. So far, she has mn@ and she plans to run an
additional(4 miles eac {@) Use T for the total number of miles run, and ¢ #6r the number of days she is going

to continue running. (nput

: ) X
= Ly Y - b= 3 -m
Lk - 3= 1 ﬁ’jﬂ + 34
You try!

13y Y gsiting Baltimore, and a tax company charges a (lat [ee of $8.00 for using the taxi, as well as

$2.50 per mile. JUsc ¢ for the total cost and m for miles. \D =g W ¥ b

Sloge = v0>2-S 23
14) For the situation in #H, if you use the taxi fdr 31
C=2.5(3D) +¥ il
c: TS+

C -;_'EBS.SO 7|Page




Credit Recovery Algebra 1 Sem 1 Ch 3 Notes: Functions
3.4 Notes: Writing Linear Equations from Two Points

(h, k) form: \I‘:: f'\? (& - \,\\\ ..\—/K

$\ope (Wnyr) point onthelise
¢ What do we need to write the equation of a line in (h, k) form?

Clope 4  one poim

e [fwe have two ordered pairs (two points), could we get this information?
L]

£ 3 loat = \jl'ﬂl \no» se 2‘% Po\rﬂ-
\y = %i =¥ i M b Unit)

Using (h, k) form to write the equation of a line that passes through two points:

\ Woose one pY ® wr 3
(Dcnd\;:o_‘)\:\ @ c:}o \ae Un.,v_f:, ¢ fuaton

R =X,

Y'n:

W K
Example 1: Write the equation of the line that passes through the points (7, 3) and (3, 9). Wrile your answer in
(h, k) form. v Y XM,

_slope il --3’@,};)4(3

o A8 Eilid
e S | W

Note: Could you write a differe T that is equivalent? If s0, how many?

Yoo slope - form’ N = -3x ¥ 21 13
%wnw-‘w \1' = -2% ¥ 2y Y i . S Ixji—’g)(*rz,u\

- !
Example 2: Write the equation of the line that passes through the points (6, -2) and (}é, -é. Write your answer
in (h, k) form. _8 -
s\ ope - . 2— = b
desle = %

N =-3x-9-g

I

Example 3: convert your answer from #2 to slope-intercept form

Yz ~3x-e) -2 \j’;”g\("r\(a

3-.—. -3x ¥\ -2
i
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W
Example 4: Writc the cquation of the line that passes through the points (-8, 1) and (2, 3). Write your answer
in (h, k) form. 2 -_L
Sope - S —) 5F g
ey O
10 S

J =%8

Example 5: Write the equation of the line that passes through the points (5, 4) and (n, 6). Write your answer
in (h, k) form. MY XY

S\ope - _ﬁ =t - 2
nh—g S o CE’(T;)

ﬂ;— Z(x-9+4 (o { 4= (e=mY 6\

h \«
Example 6: Consider the line that passes through the points (-2, -3) and Write as many correct
equations for this line as you can. @ ! 3

sloge: 3 ——x-—*_?) (o'—.t. 2 % oy
I - — »-3)

e
2 ,m)’}ﬁ
:-7-: -\-2) 3 3_1x*3_3
_,_3.()( 2) +¥ 3 R

3_

LK‘\"O

Now graph lhe-ig) Emms (rom Example 6. Verify that your lines are correct by graphing them, and making

sure they go through both points above. y
Y B £ P A 7

7

B4
1A
V4

/ / .
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